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2. (a) With adiagram, show how the Economic Order Quantity ofa product is
determined. (2 marks)

(b) The following data relate to a product:

Annual demand: 7200 units
Lead time: 8 days

Assuming there are 360 days inayear andnosafety stock iskept, calculate the
re-order level of the product. Show your calculations. (2 marks)



2.

2.
(a)

Economic order quantity:

Cost ($)

A Total inventory cost
(carrying cost + ordering cost)

Total carrying cost

Total ordering cost

» Order quantity

(2 marks)

(b)  Re-order level = (7,200 / 360) x 8 = 160 units






